
 

Class: SSC Batch 

Subject: English Language 

Transformation of sentence(Part Two) 

1. Transform the following sentences as directed in brackets. 

a. Today nothing is as serious as pollution. (Make it Superlative) 

b. But nobody is aware of it. (Make it Interrogative) 

c. Water, a vital element of environment, is polluted in different ways. 

(Make it Complex) 

d. Men pollute water by throwing waste in it. (Make it Compound) 

e. Mills and factories also pollute water. (Make it Passive) 

f. When rain and flood wash away some of these chemicals, they get mixed 

with water. (Make it Simple) 

g. Water vehicles pollute rivers by dumping oil, food waste and human 

waste into them. (Make it Compound) 

h. Thus water is contaminated by various kinds of waste and filth. (Make it 

Active) 

i. The water which is pure is necessary for us. (Make it Simple) 

j. Water is one of the most important elements of all living beings. (Make it 

Positive) 

2. Transform the following sentences as directed in brackets. 

a. The old man told him about his last journey on the sea. (Make it complex) 

b. The sea was frozen and the ice was all around them. (Make it simple) 

c. In those days there were no steamships. (Make it interrogative) 

d. The weather was very cold and there were few birds or animals in that 

snow covered country. (Make it complex) 

e. They saw an albatross. (Make it passive) 

f. The sailors thought that it was a sign of good omen. (Make it simple) 

g. It came to the ship everyday. (Make it interrogative) 

h. But one day the old sailor shot the bird. (Make it passive) 

i. He killed the bird which made the wind blow. (Make it compound) 

j. As there was no wind, the ship could not move. (Make it compound) 

3. Transform the following sentences as directed in brackets. 

a. Tigers are known as ferocious animals. (Make it complex) 

b. As the paws are cushioned, a big tiger can walk through the driest leaves 

without causing a single crackle. (Make it simple) 



c. The tiger is one of the most ferocious animals. (Make it positive) 

d. Lions are not so strong as tigers. (Make it comparative) 

e. Tigers are extremely strong. (Make it exclamatory) 

f. They are not only strong but also ferocious. (Make it simple) 

g. They hunt swiftly. (Make it negative) 

h. They hunt after they target their prey. (Make it compound) 

i. When they walk, they don’t make any sound. (Make it simple) 

j. Tigers can swim well. (Make it interrogative) 

4. Transform the following sentences as directed in brackets. 

a. The whale is the largest creature in the world. (Make it positive) 

b. Its tongue is heavier than that of an elephant. (Make it negative) 

c. Some of its arteries are so big that a child can swim through. (Make it 

simple) 

d. In spite of their huge size, whales can move at a good speed. (Make it 

complex) 

e. Babies are fondled by their mother whales. (Make it active) 

f. It takes care of its babies to raise them properly. (Make it complex) 

g. It leaves her babies when they grow up. (Make it compound) 

h. The mother whale feeds her babies on milk. (Make it passive) 

i. The babies are safe with their mother. (Make it compound) 

j. The whale is as social as human beings. (Make it comparative) 

 


